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The code number on the right side of question paper should be written by the
candidate on the front page of the answer sheet.
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Before answering a question, must write its serial number.
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Attempt all parts of a question together.
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Don’t leave blank page/pages in your answer book.
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Except the answer booklet, no extra sheet will be provided. Write to the point and

do not strike the written answer.
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PUAT YT B SR Sd ¥ Ugel ¥ AT X of 6 g 3 ol g @ ¥, qlem &
IWIed 39 TaY A $ig o grar TheR %1 fhar Srwam|

Before answering the questions, ensure that you have been supplied the correct and

the complete question paper. No complaint in this regard, will be entertained after
examination.
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General Instructions:

I.

e A R

This question paper contains 34 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
Attempt all parts of the questions together.

An internal choice is available in Que 23, 24, 29,30,33,34.

1. s fRg fawfad uReaRe cgaarr & '&dl &1 qRica...... & & (1)

(v) S@ifda
(@) AT

(¥ T
() 31 FURT & FHed ab AT

The liability of ‘Karta’ in a Hindu Undivided Family business remains:

(A) Limited

(B) Unlimited

(C) Joint

(D) Limited up to the value of common property

2. A% & @ fhH YPR HT AURT FAIT: bl W hdd Al H
qoe & T@ar §? (1)

(T) PeeT Taehar
(@) AMp IRy



(&) A
(21) Teie
Which type of trader generally keeps only samples of goods at the shop?
(A) Retailer
(B) Wholesaler
(C) Manufacturer
(D) Agent

3. HUA &b AH & AR b faw wdar g7 fradr AT F1dT §? (1)
(T) AT (SEBI)
() Ul FAER
(HY) 9RT PR
(31) 38 =T H THR A TFTd duar FaT &l
The application for approval of the company’s name is sent to:
(A) SEBI
(B) Registrar of Companies
(C) Govt. of India
(D) Govt. of that State in which the company is situated

4, oY IJHR ScUedd dla H Ferdd BT & (1)
(T) ASHR & I
(@) gferd s fawra
(&) © 3R & gt
(1) HETEIR
Small business is helpful in generating:
(A) Employment opportunities
(B) Balanced regional growth
(C) Both Aand B
(D) Corruption

5. U yfehar, TR o Farar & e & @ e grr gfda
ST dhdl §? (1)
(T) dIURTSC
(&) csATh
(&) ude



(31) caraarR@e I
To protect a process, method or innovation, one gets:
(A) Copyright
(B) Trademark
(C) Patents
(D) Goodwill

6. UTR®G @ A & O frger v Iaeor §? (1)

(T) 3reuehrelld fad

(@) Erdepreler

G CIEIGRES]

EIRSIECIGERGEL

Trade credit is an example of:
(A) Short term finance
(B) Long term finance

(C) Medium term finance
(D) Public deposits

7. RUOAU (RETRYURP) B 3db Ufdhd & T A Fodr & (1)
(T) STaHTm
(1) =arer
(&) |
@) ¥ ufasfaa
The debenture holders get their return in form of:
(A) Dividend
(B) Interest
(C) Assets
(D) Bank Securities

8. g 34 & genm H, §IT I AMAY # fAder v sfpas e Fa
& Hehcll @ (1)
(T) 21 I3
@) =5 W
(#T) 250 B
(37) 210 WS



In case of Small scale enterprises, what can be the maximum limit of investment

in plant and machinery?
(A) 21 Crore
(B) %5 Crore
(C) 350 Crore
(D) %10 Crore

9. H faheu &1 IS HfIT:
HYA 1: gfauRd 3 a9 & qe8 e aia g
FHYA 2: AP gfaaRa 31T & HT & AWURBT B HTAF STHTL|
(T) YT 1 T & Afhd PAT 2 3T B
(@) &t BAT I\ B
(&) BT HUT FI & aAfhed Th ga & AT Pl FIY el &
(&) ST YT T & AR PYA 1 U 2 § fAsepy Aepran am=m B
Choose the correct option:
Statement 1: Retained earnings are the most economical source of finance.
Statement 2: More retained earning means higher dividend to shareholders.
(A) Statement 1 is true but statement 2 is false.
(B) Both the statements are false.
(C) Both the statements are true but have no relation with each other.
(D) Both the statements are true and statement 2 has been concluded from
Statement 1.

10. g 6T 710 fadheul # & T ey &1 gaa HifFw:
HUA 1: HOT 0T R qEifeR 37 Qal HIgd UHR & & Wbl &
HUA 2: 0T U7 3R @RISR 3  Radeha & Jad 2
(T) HIT 1TcT & Afhed HIT 2 3TT &l
(@) PUT 1 HHT & AP HAT 2T B
(@) gt FYT T
(&) Sl YT AT &l
Choose the correct option from the options given below:
Statement 1: Debentures as well as preference shares can be participating.
Statement 2: Debentures as well as Preference Shares can be convertible.
(A) Statement 1 is true but Statement 2 is false.
(B) Statement 1 is false but Statement 2 is true.
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11.

12.

13.

14.

15.

16.

17.

18.

19.

(C) Both the statements are true.
(D) Both the statements are false.

S-ggT & v 3maTs fhedl & gamu=t & arF fafaw) (1)

List any two essential resources required for e-business.

e fhar & &1 Serexor difav| (1)

Give two examples of economic activity.

c2caary H A a1 ualf & a1 @] (1)

Name the two parties involved in C2C business.

e ghdl &l (1)

In a banking business, maximum number of partners can be .........

AN HFYAT bl GA F Fehell Yol Bl HHA T A ... % HIHN & T Tl
3TEaTH T (1)
A government company is a company with at least ....... % paid up capital
Owned by Government.

AU GRT ATBHYIT & AT UTH UTRATHE Pl ............. & & F ST
ST B (1)
The remuneration received by the licensor under licensing is known as.........

TH/T (M/A) BT QU ATH e el (1)
Full form of M/Ais .......ooeinnel.

AR T GUaT a1 egaary i 3 et & ufd vh wenfae Seer
(AT / 3HEcy) (1)

Offering job security is a social responsibility of business towards its investors.
(True/ False)

therd Solargifeleh qUETAR ¥l 81 &1 (Fcd/ 318c) (1)
Fax is not a type of electronic telecom service. (True/False)



20.

21.

22.

23.

24.

25.

T Th UhR &l Fdoliadd 9H & (Tcd/ 3Ia)
Railway is a type of Statutory Corporation. (True/False)

Iool@ HITST|

Mention the services provided by the wholesalers to retailers.

“HTET AR fordr ot wrdcaear & g & 31 a1 &17- SN AT &

TEH A IeRTET AUR & I BT Soord DT

“International trade is the backbone of any economy.”- Mention advantages
of the international trade in the light of above statement.

3-PIAY & foheel ©: oA PN FAdg DT |
List any six benefits of e-commerce
Agdr
OR
$-IET UG URURG <Iadd # FR ford|
Differentiate e-business from the traditional business.

TAaAT® ATEHA & fAFATIfad dRo & carear e
(T) AT HROT
(@) 3t HRoT
(&) UTepideh HROT
Explain the following causes of business risk.
(A) Human causes
(8) Economic causes
() Natural causes
Agdr
OR
UM T &2 3TN TAAWATHT &l Jeol@ HITAT|

What is a profession? Mention its features.

(1)

(3)

(3)

(3)

(3)

"TATHUAS (MSME) & U T8 a8 " HRd & oY 39901 6 gog@ FHaeansi

i arETr v .

“The road for MSME is not an easy way.” Explain the main problems faced

by small scale industries in India.

(4)



26. ) oUW I YT & AP SAREMAcdl Pl Sootd hIiAAT:

27.

28.

29.

30.

31.

(@) fademept & ufa
(@) werarial & ufa
Mention the social responsibilities of business:
(A) Towards investors
(B) Towards employees

A UhR & 3A9I & JIfTAIoT Pl 3eexoT Tfed TISBT|

Explain with example the various types of Industries and their classification.

e AR IRTET AR #H R qds|

Compare and contrast the domestic trade with the international trade.

HRAT H A0SAd &9 $ dealdl {FHH W Uh [aega feogoh faf@w)
Write a detailed note on changing role of public sector in India.
3Ydar
OR
fanmfa sushaAr & fhegl TR WA 1 gredr HifSu|

List and elaborate any four limitations of departmental undertakings.

Teh Moo deb A IMAGN W Wiel S arel [AfHe gpR & @rdr
& a1 faf@u 3R fhedl ar @1 auia HifaT)
Name various types of accounts generally opened in a Commercial bank
and explain any two.
AYdr
OR
diar & fAafaf@a R & s afa auia Hifav:
(@) 3fRPR FHgor 1 fBgia
(1) Rpead srRoT F1 [T
With the help of examples, describe the following principles of insurance:
(A) Principle of Subrogation
(B) Principle of Proximate Cause

3t 3R ®KOT gAl Bl TRATVT HST 3R 3907 3 ff@T]

Define and distinguish between shares and debentures.
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32. TPE U@ Pl U T ACT Dl Sdl &? AEAR & guia Hfaw]

33.

34.

Which document is known as the charter of the company? Describe in detail.

dEHETD geblell @ 3T FAT FHAS 82 3 fAAVAST f faderem Hifse
What do you understand by multiple shops? Elaborate features of such shops.
3Ydar
OR
faHTiT HeR & onHt 3R AAET Hr e Hifav]

Explain the advantages and limitations of a departmental store.

“Ueh T &l I90T 9 F a9 €, afg a5 <aih 3dar 981 & o a8 udd
B B U TIT P ' 36 HIT W IS TaR <o HifFw|

“One man control is the best in the world if that man is big enough to manage
the whole show.” Explain.
AYdr

OR

Tgh Yol Huell & deH A Aeafafla d @ fredl i & waig & carear w1

(@) 3faRee SRR
@) afFa afRfca
(@) PEAA <afh
&) gus 3edca
Briefly explain any three of the following terms in context of a Joint Stock
Company:
(A) Perpetual Succession
(B) Limited liability
(C) Artificial person
(D) Separate entity

A

v

(6)

(6)

(6)



